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N = 0 & AF S 99 N A
20209 &= 20l A LB H S XS
2N 2XH
H: Z2XNH 24
S AIEZHI(SXH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
=X ™ 309,267 386,045 NT6,778
=X 29 269,622 344,600 ANT4,978
A ZHI(2XH) 269,622 344,600 ANT4,978
ARBFO=AANA(2XH) 59,100 76,500 A 17,400
401 AlEHIZL 2 0HY| 59,100 76,500 A 17,400
01 Al& H| 59,100 76,500 A 17,400
OALAFABRZFOIHOAS 50,000
OSXH BHAE X Z2A(FOA ESRAALS) 9,100
resgdHied (2XH) 7,034 7,034 0
301 et A= 7,034 7,034 0
04 AIsHHMHAH XS 7,034 7,034 0]
o2XisgdgEl 249 7,034
SECHEAR2H(ZXH) 91,470 64,870 26,600
301 dEtE M= 91,470 64,870 26,600
05 S&E -0 -EHEESEMN= 91,470 64,870 26,600
O0lE Il 300,000 x19H x12& 68,400
O &3 300,000 19 *200% 11,400
O0lH 3o &A G 20,000& x 199 x 128 »23| 9,120
Oty 243 25,000& 51 x23| 2,550
ARSHEAKNK(2XH) 14,060 24,060 A 10,000
201 Bt 10,000 20,000 A 10,000
03 A2 EH| 10,000 20,000 A 10,000
O2XHoIo Y 10,000
301 et M= 4,060 4,060 0
09 HALAHIXIE 2 3,060 3,060 0
OLQHOIEEU3 20,000& 25 500
O=&H 20,000& «50H 1,000
OJ|EFH AF 20,000& *40H 800
oo (Be) cetthal 40,000& *19Y 760
12 JIEtE2 A= 1,000 1,000 0
OsdeX A 1,000
HA22| (2 XS) 97,958 172,136 ANT4.178
101 21 214| 13,198 12,276 922
04 JI2tHI22XNSES 13,198 12,276 922
OFR 249 JI23H| 71,8302 x15% 83| 8,620
O AY o1l 68,720& 12 60 4,124
O ol2 408 = 454
201 et d| 74,900 63,900 11,000




2N 2N
B 270 29
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Eelr AZAHI(SXH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 51,400 40,400 11,000
Ooget2dgHl 13,700
Oss=s+ FHgxs 1,500
OFMSRAFH 100,000 10 A+ 12& 1,200
Ootd KAzl FHIXH= 35,000
02 =224l 23,500 23,500 0
03323 % HA 10,000
OWIIXIGHAE IR 1,000
Od =zl 4,000
OA& &8l Xl 2,500
O Xt 6,000
206 T 2 bl 5,960 5,960 0
01 = Hl 5,960 5,960 0
O2% 2Zx4 500
oYL= |RFH 5,460
R 1,400& *3,5004 4,900
Fes 1,600& *350£ 560
405 XtabFE SHI 3,900 0 3,900
01 AR ESFH S 3,900 0 3,900
OMus Tz )& s Seig J1J 2
2 2,000,000 =1CH 2,000
OHAMEA BIEFI 7Y 950,000& *2H 1,900
HH2F A 39,645 41,445 A1,800
JI2ZHI(BRES) 39,645 41,445 A 1,800
Jl2dul(2XH) 39,645 41,445 A 1,800
201 £8-2dH| 4,845 4,845 0
01 At 22l 4,845 4,845 0
Os2Y Hezx224 25,000 117 2,925
O= &l 1,920
202 ¢4l 24,600 26,400 A 1,800
01 = LH YI 1,200 1,200 0
O=UW o di 1,200
02 N 23,400 25,200 A 1,800
OEHo 150,000& = 13H »12& 23,400
203 YR =] 10,200 10,200 0
01 J1Z2Z YR8 6,600 6,600 0
osd 6,600
02 A& H =& 600 600 0
OFAJtatg =& 600
04 EA2IYRFLH| 3,000 3,000 0
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